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Note : This paper is of thirty (30) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.
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Note : Section ‘A’ contains four (04) long answer type

questions of seven and half 7% marks each.

Learners are required to answer two (02) questions
only.
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Define Ecosystem and discuss its structure in detail.
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Write an essay on photoperiodism.
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Describe about the production, sources, properties and
uses of any two edible oils.
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Give a detailed account of the history, properties and
uses of Rubber.
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Note : Section ‘B’ contains eight (08) short answer type
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questions of two and half 2% marks each.

Learners are required to answer four (04) questions
only.
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Differentiate between Autotrophic and Hetertrophic
succession.
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What is Polyclimax theroy ?

9gaRY Rigrd 71 & ?

Give a brief note on Pedegenesis.
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Write a brief note on Food Web.
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Write the names of any five varieties of wheat.
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Discuss in brief the botanical description, chemical
constituent and uses of cabbage.
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Write a brief note on Saffron.
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What is Fire Wood ? Write down its characteristics.
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Section—-C / GUs—TT
(Objective Type Questions) / (@IS T)
Section ‘C’ contains ten (10) objective type

questions of half % mark each. All the questions

of this section are compulsory.
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Which one of following is an organic component ?

(@)
(b)
(©)
(d)

Carbon
Oxygen
Sulphur
Soil
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(@)

RIENINE
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Brassica rapaisa:

(@)
(b)
(©)
(d)

Long day plant
Short day plant
Day neutral plant
Intermediate plant
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Allium cepa is the botanical name of which of the
following ?

(@ Garlic

(b) Radish

(c) Tomato

(d) Onion
ffeiRad & & e aFefde 9@ gfermm 9
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lodine is present in :
(@ Cucumber

(b) Lady’s finger
(c) Tomato

(d) All of the above

P.T.O.
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5. Largest state of Jute production in India is :
(@) Bihar
(b) Uttar Pradesh
(c) West Bengal
(d) Odisha
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Indicate whether the following are True/False.
fy=iforRad H T / 9T BT T HINT |

6. Cabbage is a big flower.
T Y U a1 q ¢ |

7. ‘Terminalia chebula’ is the betanical name of
Haritaki.
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8. Hemp Fiber is obtained from Crotolaria juncea.
2 R BICIIRAT SHRET | UTe &Il & |

9. Black pepper is known as ‘King of Species’.
Pl 7 BT FATel BT T BT A T |

10. ‘Pea’ plant belongs to the family Fabaceae.
X' Bl el BT U F |
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